Algebra &Probability Perp (3) 2" Term

Choose the correct answer:

(X 1P = somommonn
1
= | @Xx*+1 (b) x>-1 ©Xx*-x+1 .x2+2x+1
If A » B are two mutually exclusive events s P (B)=0.5and P (A U B)=0.7
2 | sthenP (A)= s
(a) 0.02 .0.2 (€)05 (d)0.13
If the two equations X+ 2y =1 » 2 X+ky =2 has only one solution
é sthen kK7 oo
@1 (b)2 o @-4
. P X-3.
The domain of the function f : f (X) = 718 e
4
- 'm b)R-{-4} C©R-{-4,3} (@D
If A C S of a random experiment s P (A) = P (A) » then P (A) = oo
5 1 i 8
(@)1 B OF @ 3
The set of zeroes of the function f : where f (X)=—3 Xis ..cc..cc.ceon.
6
ol U v {3} © {-3} @R-{3}
In the experiment of rolling a regular die once » the probability of appearance of an
7 | even number on the upper face = -oooooeo
@ + ) 1 .% @2
Ifxz—y2=2(x+ y) where (X + y) # zero > then (X —y) = -ooveeeeee
8 2 (b) 4 ©) 6 (d) 8
IfP(A)=4P (A) sthen P (A) = ooooiveeee
] . 0.8 (b) 0.6 (c)04 (d)0.2
The domain of the function f where f (X) = x5+x2 | SRR R
10 | @ rR-{5} b)R-{-5} ©R
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Twice the number X subtracted by 3 is ..............
11 |(a) X-3 (b)2X+3 (©)2X-3 .3—23{

The point of intersection of the two straight lines X=2and X+ y=61is ..........
12 | @) (2-6) .(2 »4) (€)(4-2) (d)(652)

[fX:Zandy:S ,[hen(y_z_'x_')m: ,,,,,,,,,,,,,,,

13 1(a) 10 (b)—1 (c)-10 .1
If X is a negative real number » then the greatest number of the following numbers
14 | S——
@3 +X (b)3 X .3_x @2
The additive inverse of the fraction 23 T S
15 3 2 ¥ 2
== = b X“+1 X“+1 3
B 05 S S
If A and B are two mutually exclusive events of random experiment then :
- P(ANB)= e
~ | @PAUB) bPA)+PB) (0D 'zero
If £ (X) =6 X% +3 X (1 -2 X) is a polynomial function » then its degree is ...............
17 . first. (b) second. (c) third. (d) fourth.
X*-

The set of zeroes of the function f : f (X) =

X-3
18
(a) {3} B3 () {3,-3} @)@
If the curve of the quadratic function does not intersect the X-axis at any point » then
19 the number of solutions of the equation f (X) =0 inEis ...
- 'zero (b) one solution. (¢) two solutions. (d) an infinite number.
Ifa<y3<bsthen(asb)is..coconen
20 | 2)(051) (b) (2.5 +3.5) .(1 ,2) () (2 53)
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If(7a—2 23)=(1sb+5)sthena+b= e

21 | a)-1 zero (c) 1 (d) 2

1 The domain of the multiplicative inverse of the algebraic fraction i:

22 | @R b)R-{-5} (©)R-{-2} IR {-2:-5}

If25 %35 =m x 6% sthen m = - ovoeeees

23 | @)1 (b) 2 ()3 6

The point of intersection of the two straight lines X+2=0andy-3=01is ...

24 (a)(=2s+-3) (-253) (c)(2+-3) (d)(2s3)

The set of zeroes of the function f: f (X) = X2+ 1is oo

25 | (a) {1} ) {-1} ©{-1-1} 2

If the curve of the quadratic function f passes through the points (2 50) » (=3 ,0)
and (0 s— 6) » then the solution set of the equation f (X) =0 in[Ris ...

— |@{-2,3} ®{3,2} \ {2 -3} ) {-3,-6}

If there is only one solution for the equation :

27 | X+2y=land2X+ky=2inR xR sthen k cannotequal ...............
(a) 2 o4 (©)-2 (d) -4

Ifn(X)= ';+; is an algebraic fraction » then the domain in which the fraction has

28 | multiplicative inverse is ...........

(a)R- {2} _}&-{-1 2} ©@R-{-1} @ {-1,2}

If the curve of the function f : f (X) = X — X + ¢ passing through the point (2 » 1) »

then ¢ = - oomrvnans
2 @2 (b) 1 (©)-2 !

2
The set of zeroes of the function f : f (X) = Z}—z—x;g {8 e
+

30
— || @{2,-2} ®){-2,-1} d{z,—l} (@ {1,-1}
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If A and B are two mutually exclusive events of a random experiment
»if P(A) = % s PAUB)= T'Zz_ Y 1§ [——
- 1 1 2

.’ (b) 3 © 5 (d) 1

4

Ifn(X)= ii: » then the domain of n”™" is ......co.c.....

R () {2 -5} (b) {-2,5} .m-{-z,s} @R-{2,-5]

If the solution set of the equation X?—a X +4=0is {-2} sthena= oo

33 | (a)-2 '—4 ©2 @) 4
The simplest form of the function n : n (X) = ;‘_;' such that XER — {3} is oo
34 |(a)l '— 1 (c)3 (d)-3

The function f where f (X) = ﬁ—:—i lias: acliiblve farverse: in e AT ..o s

3 | @ R-{3} 'IR—{4} ©R-{-4} (dR-{-3}
If A C S of a random experiment 5 P (A) =P (A) sthen P (A) = -oooioeevvee
1 1
36 | (a) zero (b) 1 .—2- @ 7

The set of zeroes of f where f (X) = (X - R 0 1 B

37 .{1 »-2} () {152} ©{-1,-2} @ {152}

If the curve of the function f where f (X) =X 2_a passes through the point (1 »0)

(a)-2 (b)-1 (c) zero ' 1
If A and B are two mutually exclusive events s then P (A—B) = -
39 | (a)zero ' P (A) (c)P (B) (d)P(AUB)

Number of solutions of the two equations : X+y=2 s y-3=0togetheris..........
20 | @3 (b)2 ' I (d) zero
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If(5+sX-4)=(ys3)sthen X +y=--rorrer

41 | (a)25 '12 (c)8 (d)6
The set of zero is of f wheref(X):X(X2—2X+ D) iB g

42 .{0,1} (b){0,-1} ©{-1,1} (d){0s1,-1}
If the age of a man now is X year » then his age after 5 years from now is ............. years.

43 | () X-5 (b)5-X (©)5X X+35

If A is an event of random experiment » then P (A:) = cssesaneanes

a0 | @1 ®)-1 .I-P(A) ()P (A) -1

I£2X2=5 sthen 6 X2 = cocreevivenns
45 | (@5 (b) 10 . 15 (d) 20

The sum of two consecutive integers is 17 » then the smaller number of them

o ' 8 (b)9 ©) 17 (d) 72

The probability of the impossible event eiuals ...............

47 |@ 9D (b) 1 zero (d-1

The sum of two consecutive integers is 17 » then the smaller number of them

.8 (b)9 © 17 d) 72
If2x2=5’then6x2= ...............
49 (a5 (b) 10 . 15 (d) 20
In the oppossite figure : 7
The solution set of f: f (X) =018 .c..ccrveeve. \/
50 %) ) {3} e !
© {23} @ {2} s Lec?S
y\

Mr.Omar Adel
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If the two equations : X+3y=6 s 2X+ky=12have an infinit number of

51 solutions sthen k = --vvvvveeee

o (a) 1 .6 (c)3 (d)2

m-:d_p ...............

5y | @3 OF '1 )7

If A and B are two mutually exclusive events of a random experiment »
53 | then P (A () B) = «eeeveeeees

(a) D (b) 1 .zero (d)%’
T pepe—

54 | (@)-3 (b) __é, .5 () %

IfFACS » P(A):%—,thg“P(A“)-: ...............
3| @1 B © % @ 3

The opposite figure represents

the curve of a quadratic function f L——i{ 7]

» then the solution set \_s I
56 of the equation f (X) =0 —%3—-— : [ I|
- is ............... | z i I

- ol I S [ 1)
| ® 1} PR
If the fraction Nk is the multiplicative inverse of 2 sthena = -oooveeenee
X+3 X+5

27 '_5 (b)-3 © 3 @5

The set of zeroes of the function f: f (X) =41s ...............

58 | (a){-4} (b) {zero} B2 (d) {2}

The solution set of the equation : X? =4 X +4=0inRis ..ccccoc

59 | ) {-2} '{2} ) {41} (d)@

If the probability that a student succeeded is 95 % » then the probability that he does not
60 succeed is

(a) 20 %

(c) 10 % (d) zero
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fFX+y=5sthen3X+3y=-eeeierneens
61 | (a)5 (b)3 (c)8 '15

]_'f3x=] sthen X = «veeeeneienn
0 ® 1 ©]1 )3
62

If A is the complement event of the event A in a sample space of a random experiment
63 | sthenP(A)+P o TorT——

@2 .1 © 1 @3

X2+ k X+ 9 is a perfect square if k = oo
64 | (a)3 ®) -3 ) +3 .16

IfP(A)=4P (ﬁ} sthen P (A) = -vovevennin
65 'o.s (6)0.6 ©0.4 @02

Ify 3=8 stheny= oo

66 1 1
(a) 312 (b) 1 (c)2 ' 3
The two straight lines : X+5y=1 3 X+5y-8=0are oeoeee

67 'parallel. (b) coincide.
(c) perpendicular. (d) intersect and non perpendicular.

If A » B are two events from the sample of a random experiment > P (A) =0.7
68 |andP(A-B)=0.5 sthen P(AB) = -ooeveenes

@06 (b)0.4 (©)03 .0.2
IfX*-y*=15and X~y =3 sthen X +y = --oeerree

69 | @)-5 (b)-3 ©3 O F
[2 5 5] is the solution set of the inequality -

70 .1sx-1_<_4 b)1<X-1<4
©1sX-1<4 d1<Xx-1<4
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1,1
If:—+—4+—=—-
X y ¥ y yX
71
= @2 (b)3 Loyl X4y
1 - - PR
[fgx 7 =7 sthen X =
72 2 7 3
(a) 2 .2 © 5 @3
x_3 L & J— )
. If?-4,then . 6
B 4 - 9 16
@ 3 1 © % @ %
If the ratio between the perimeters of two squares is 1 : 2 » then the ratio between their
E ATECAS = +-evvrrvrrrenes METTTTT T PR PP
(a)1:2 (b)2:1 .114 (d)4:1
F(X-5" =1 yforevery X € ...
75 | @R Br-{s} OR-{-5}  @R-{1}

IfAB=3 s AB2=12 sthenB=-evvnene.

76 | (a)2 (b)3 .4 (d)>

If the function f is a function from set X to set Y » then the domain of the
77 FOBCHON 18 consvcsins

- .X (b)Y () X xY (d) Y xX

R | L ——
78 | (a)-2 ' zero. ©) 1 )2

If a die is rolled once » then the probability of getting an odd number and even number
79 together = ---wvevoo-

(a) -%— .zero. (c) % @1

If X is a negative number s then the greatest number from the following numbers

£ 5
.S-x b)5+X © = 35X
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<:> X+y=4 1 X-y=2

Solution |
X =4
X=-\=2
2X=6 W S5
S 3+y=4 sLy=1

. The$S.={(3 D}

2 X=y 'X+3y=8
v X=y (1) » X+3y=8 (2)
Substituting from (1)in(2): . y+3y=8
SL4y=8 SHy=2

Substituting in (1) : ~. X=2
- TheSS.={(2,2)}

Perp (3) 2™ Term

4 )3X+4y=241X-2y=-2

- exm
3X+4y=24
X —-2y=-2 multiplying by 2

3X+4y=24
L2X-4y=-4

o I X=2 S X=4
12+4y=24 Sy=3
The SS.= {(4 ,3)}

5 X-3y=61 2X+y=5
(Solution|
v X-3y=6 -. x=6+3}rl
v2X+y=§
,'.2(6+3y)+y=5 S 1246y+y =5
S Ty==7 Ly=-1

Substitutingin(1): .. X=6-3=3
- The$S.={(3 -1}

3 )X+3y=213X+4y=6
[ Solution

X+3y = 2  multiplying by - 3

3X+4y=6

-!ic-9y=—6 (1)

»3X+4y=6 (2

S—=5Sy=zero .. y=2zero
Substitutingin (1) : . X=2
s TheSS.= {(2 ,0)}

Mr.Omar Adel

6 \Iff(X)=aX?+bsf(1)=5,f2)=11
then find the value of aand b

[Solution |
cf()=aX2+bsf(1)=5
La+b=5 (1) s f(2)=11

Sd4a+b=11 (2)
Subtracting (1) from (2): . 3a=6 Sax2
Substituting in (1): . b=3

2
T Ef9)=%"2 , f(4)=1Find:b

X+b

[Solution |
L 2 . 16-9 _
f@)=1 S =1
~T=4+b ~b=3
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[ Solution |

If (a, 2 b) is a solution }or t:he two equations :
** (a »2 b) is a solution for the equation : 3 X-y =35

~3a-2b=5 (1)
s’ (a »2b) is a solution for the equation : X +y=~1
sa+2b=-1 (2)

Adding (1)and (2): . 4a=4 & =]

Substitutingin (1): . b=~1

Perp (3) 2™ Term

[Solution

11

'Substituting from equ. (2) in equ. (1) :

Lyl+y=0 Ly(y+1)=0
sHy=0 or y=-1
Substituting inequ. (1): .. X=0 or X=1

~ The $.8.={(050)s(1>-1)}

9 Find the value of aand b

{(3 - 1)} is the solution set of the two
aX+by-5=0 3aX+by=17

12 X+y=5 , %=1

(Solution |
v X+y=5 Sy=5-X (1)
. Xy
Substituting from (1) in (2) :
LXG5-X)=6 N5X-X2-6=0
LXE-5X46=0 - (X-2)(X-3)=0
S X=2o0rX=3

Andfrom(l): " y=3ory=2
S TheSS.= {(2 »3)+(3 ,2)}

“* (3 s~ 1) is a solution for the equation
aX+by-5=0 ~3a-b=5 (1)
“* (3 »— 1) is a solution for the equation
JaX+by=17 ~9a-b=17
L=-9a+b=-17 (2)
Adding (1)and (2): .. -6a=-12 ..a=2
Substitutingin (1) : ~. b=1

10 Mx+y=2 %+%=2,whereh0,y;e0
v X+y=2 S X=2-y (1)
. . g =
; x+y"2 LY+ X=2Xy
“Yy+X-2Xy=0 (2)

Substituting from (1) in (2) :
SY+2-y-2y(2-y)=0
5L2y*-4y42=0
LY -2y+1=0
From(1): .. X=1

. The S.S.={(l s 1)}

L (y-17%=0 ~y=1

Mr.Omar Adel

13 x+}'=7 ’ Xy'=12
[ Solution|

ny=T7-X (n
Substituting in the second equation :
SX(T-X)=12 HTX-X2=12
LX2-TX41220 4 (X-3)(X-4)=0
S X=3 or X=4

From(1l): -, y=4 or y=3

~The $.8.={(3+4) »(4 53)}

“X+y=17

01127470454
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Find in R the S.S. of each of the following equations using the general formula :

1" ) x2_4Xx+1=0
[Solution|

a=1+sb=-4yc=1

_4:Vl6-4_4t 12
B g

2
S X=0270rX=3.73

- The $.5.= {027,373}

Perp (3) 2™ Term

18 k..
x2+x 1

[Solution |

X2+ X4+8=0
Sa=-1sb=1sc=8

e = —I:V;+3 _-lﬂ[_
W X==-23NorX= 3.372

- The $.8.={-2.372,3372}

2-6x-17

(Solution |

v X2-6X+7=0
sa=1sb==-6sc=7

x_6:1}36-28_6¢1§

Y 5
L X=15860rX=4414
S TheSS.= {1.586 ,4.414}

15

16 ) x-3)2-5X=0
[Solution|

o X2-11X49=0
a=1lsb=-113c=9

_u#f121-36 _11:78s
2 - 3
X=10.110 or X = 0.890

. The $.5.={10.110 ,0.890}

19 > Applications

The sum of two natural numbers is 63 and their difference s 11 Find the two numbers,
[ Solution |

Let the two numbers be X and y

LX+y=63(1)X-y=11(2)

Adding (1)and(2): . 2X=74
e X=37

Substituting inequ. (1) : .. y =26
.. The two numbers are 37 , 26

17 X _ 1
3 5-X
[ Solution |
v =X245X-3=0
sLa==-1ysb=5sc=-3
x= -5:125 12 -S:*{_
) =
S X=4303 or X=0.697

. The S.5. = {4.303 ,0.697}

Mr.Omar Adel

20

Arectangle is with a length more than its width by 4 cm, If the perimeter of the
rectangle is 28 cm. Find the area of the rectangle.

[Solution |

Let the length X cm. and the width be y cm.
SX-y=4(1)s2(X+y)=28 -~ X+y=14(2)
Adding (1)and (2): .2 X=18 .. X=9
Substituting in (1) : ~. y=35

. The length =9 cm. » the width =5 cm.

. The area of the rectangle =9 x 5 =45 cm?

01127470454
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23
21
The perimeter of a rectangle is 18 and its area is 18 cm’?
A 2-digit number » its tens digit is twice its units digit. Find its two dimensions.
If the two digits are reversed , the resulting number decreases
the original number by 27. Find the original number. m
[ Solution | Let the length of the rectangle = X cm.
Units Tens The number and the WIdth = y e,
The original number X y X+10y o (x+y)x2= 18 o X+y=9 (1
The resulting number y X y+10X
'y Xy=18 (2
-+ The resulting number decreases the original number by 27
. The original number — the resulting number = 27 From ( 1 ) Ly = 9-X (3)
L (X+10y) - (y+10X) =27 LX+10y-y-10X=27 .
5 9y-9Xx=27 ny-X=3 @ Substitutingin(2): . X(9-X)=18
Substituting with the value of y = 2 X from equation (1) in equation (2) : . 9\ : 2
L2X-X=3 ._"x=3j och-x -18 ..x —9x+18=0
Substituting by X = 3 in equation (1) : . 9 2 - . — L
s st L (X=3)(X-6)=0 .. X=30rX=6
. The units digit = 3 » the tens digit =6 ... The original number = 63 Substituting in (3) : ny=6ory=3
”s . The two dimensions are 6 cm. and 3 cm.
The sum of two real numbers is 9 and the difference between their squares equals 45 24
Find the two numbers, . ; i i ;
oo A right-angled triangle of hypotenuse length 13 cm. and its perimeter is 30 cm.
Find the lengths of the other two sides.
Let the two numbers be X and y : | 13
LX+y=9 (1) y
D )’2 =45 @ x

From(1l): ... X=9- 3)
(1) y Let the lengths of the two sides of the right angle be

Substituting from (3)in (2) : . (9—y)* - y*=45 X cm. and y cm.

5 81-18y+y*-y*=45 .. 81-18y=45 LX+y+13=30 L X+y=17 (1)
18y =36 Ly=2 yo X2 4y2=169 (2)
Substitutingin (3): . X=9-2=7 From(1): - X=17-y (3)

.. The two numbers are 7 and 2

Substituting in (2) : .- ( l7-y)2+y2= 169
LY =34y 42894y -169=0

A2y -3y+120=0 - y*-17y+60=0
S(y-12)(y-5=0 .y=120ry=5
Substitutingin (3): . X=50r X=12

R . The side lengths of the right angle are 5 cm. and 12 cm.
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Alength of a rectangle is 3 cm. more than its width and its area is 28 ot

Find its perimeter.

[ solution|
Let the length of the rectangle be X cm

and its width be y cm.
L X-y=3 (1)
' Xy=28 (2)

From(1): - X=y+3 (3)

Substituting from (3) in (2) :
Substituting from (3) in (2) :
Ly(y+3)=28 Ly +3y-28=0
S(y+7)(y-4)=0
S y=-T7(refused) or y=4
Substitutingin (3): . X=7
. The two dimensions of the rectangle are 4 cm.
and 7 cm.
. The perimeter of the rectangle = (7 +4) x 2 =22 cm.

Perp (3) 2™ Term

27

Find in R x R the solution set of the two equations graphically :
y=X+1 5 2X+y=7

L ]
y=X+1 SHLNNLY
(x[-1fo]o] Y2724 -\
Doi]s] (XL 23] T

BEEH AW
y|s[3]1] LA «
3949 113N |
HNERERE
. y\
From the graph : The $.5.= {(2 »3)}

26

The sum of two rational numbers is 12 s and three times the smallest number exceeds

than twice the greatest number by one Find the two numbers.

[Solution|

Let the two numbers be X and y :
HX+y=12 Ly=12-X (1)
3X-2y=1 (2)

Substituting from (1) in (2) :
IX=-2(12-X)=1 ~3X-24+2X=1
S3X-24=1 XXX S X=)
Substituting in (1): .. y=7

. The two numbers are 5 and 7

Mr.Omar Adel

28
Find in R the set of zeroes of the functions that are defined by the following rules :
QF0=3x>-15x Of0=x"+4
2
@ (0=— " thenfind the domainof f | @f (0 =zer0 s n(X)=5
X -X-6

(Solution |

om3x2-15x=n

SL3X(X-5=0
L X=0 or X=5
~z(f)={0,5}

eme2+4=u

nx2=-4 . x::ﬁ

nz(H=D

(X-3)(X+3)

0 u-gad

. The domain of f =R~ {3 s-2} s2(f) = {3 -3} - {3 -2} ={-3}

ozl:f:l=]E E] z(n]=@

01127470454
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{20 If the domain of the function n : n (X) = —~—— is R — {3}

X2-aX+9
s then find the value of a

e
.+ The domain of n =R - {3}
S AtX=3sthenX?>-aX+9=0
~9-3a+9=0 .3a=18 a=6

30

If the set of zeroes of the function
fOOo=ax*+X+bis {051}
Find the value of aand b

[Solution|
wz(H={0s1} - fO)=0
s~ b=0 LfOO=ax?+Xx
s F(D)=0 nax12+1=0
Sa+l=0 Soa=-—1

Perp (3) 2™ Term

Find the common domain of the following algebraic fractions :
X+2 X-4
- X+3 "% N
[Solution |
The domain of n, =R - {- 5}

32

s the domain of ny=R - {7}

. The common domain =
=R-{-5:7}

31

If the function f : f (X) = %32 %2715
Prove that : The number 5 is the «
the one of the zeroes of the function f

solution

f(5)=(5P-2(5-75=125-50-75=0
. the number 5 is one of zeroes of the function f

achhll djaly Oly4io @Gkl
ore ® Google Pla:
0984111 gi 339523 11 Alsligo Llle Guhill Joa

www.cryp2day.com - aclihll djaly &ly4io gdgo

Mr.Omar Adel

33

Find the common domain of the following algebraic fractions
X L
xi-4  2-X
[ Solution
__ X
(X+2)(X-2)
*. The domain of n, =R~ {-2 »2}

N

The domain of n, =R - {2}
.. The common domain =
R-{-2,2}

34

Find the common domain of the following algebraic fractions :

X 3
3 X
[Solution|

The domain of n, R
the domain of n, =[R - {{]}

*. The common domain =R - {0}

01127470454
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35 38\ provethatn, =n,:
If the domain of the function f where f (X) MD1sII§{ }andf(0)=3 n (x)=2_x - (J’C)=x—hzi
: X+4 . X2+4X+4
ythen find the value of each a and b
[Solution | fasted .
** The domain =R - {- 2} Cemy (X) = 2X
. WhenX=-2 .. X+a=0 ' 2(X+2)
.-,—2+a;0b Sa=2 - Thedomainofnl=IR—{—2}
. _X+ s o 0+b _
..f(x)_x+2 s f(0)=3 o433 i B x (1)
-.%:3 . b=6 1 ~X+2
X(X+2)
Ny (X)=—
36 - (x+2)
Ifthesetofzeroesofthefunctionfwheref(X)-%’y—sls{4} . The domain of n2=m_{_ 2}
and its domain is IR~ {2} « then find 2 s b x (2)
1 9[\2 (X)= X+2
v z(f)={4} L AtX=4 From (1) and (2) : . n, =n,
naxX’-6xX+8=0
39
~ax4’—-6x4+8=0 ) .
X -4 X' -X"-6X
If n, (X)-———— N, (X)mr——
L 16a—-16=0 ~16a=16 ~a=1 x5 = * x-9x
s " The domain Off=IR-{2} Prove that H nl (X)—nz (X)
5 Rl e for all values f)f X which be.long to.
the common domain and find this domain.
5 2b-4=0 ~2b=4 s b=2 [ Solution|
(X=-2)(X+2)
37 = (X+3)(X-2)
[fthedomainofthefunctionfwheref(X)=xz_sxx_”nis]R—{Z ,c} . "rhe domaln Ofn =R- {_3 ’ 2}
o then find the value of each m and ¢ x 2 ! x( 2)( 3
m 5 o X+ X+2)(X-3)
. mM=3s RO x )
** The domain Off=IR- {2 SC} Thedomainofn2=IR-{O 53 ,3}
~WhenX=2 .~ X?>-5X+m=0 X+2
e nzx)- 3 Son (X)=n, (X)
S4-5%x24+m=0 M=
ForallthevaluesofxEIR-{O 1-352,3}
» s X
f(x)-—_s'x—”; "f(x)"(x-z)(x-3)
.. The domainof f =R-{2,3} ~¢=3 U383 ¢ s i
mozKkratgahza
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yprove thatn, =n, :
X2 X3+X2+X
n = =
1X=5051 W=
(Solution
x2
n; (€)=
! X (x=1)
». The domain of n, =R — {0 > 1}
1 (D
*ny (X)=ﬁ
2
"t ny (X) = XX +Zc+l)
X(X-1DX“+X+1)
. The domainof n,=R—- {0 >1}
) (2)

From (1)and (2): . n; =n,

Perp (3) 2™ Term

Find n (X) in its simplest form

XXX _ X+5
x2-1 x%*+4x-5
[Solution|

i xRN
ZED(X=1)  (X-1)(XN)

. The domain of n=R—{- 151 5-5}

X-1
L

42

n(X)=

4

If the domain of the function n where

b 9 .
1(x)_-k-+x+a1sna-{o,3}
n (6) = 7 find the values of a s b
[Solution|
" The domain ofn:ﬂ@_{o, 3}
.'.Atx=3 .'.x.‘.a:o
S 3+a=0 a=-3
. b 9
Py i | = —
"(‘; AC= 2
B | == . N ek
b & 6+—-—6_3_ 7
L +3=T Le=4 b=

a Q “f"'
uole g * Goo ;‘ —aJ
0941111 gi 239,011 cAlyligo Lale Gubill Joa

www.cryp2day.com - aclihll djaly &ly4io gdgo

Mr.Omar Adel

n{X)—x +2X+4 9-X
x3-8 x2+JC—6
[Solution|
o X +2X+4 G-X0G+X

(X-2)(C+2x+4) (X-2)(X+3)

- The domain of n =R — {2 -3}
1 3-%X _ %2
MN=F2 X2 X-2

=1

44

3{3—8 X+1
n(X)= 3 Ry
X°=-3X+2 X°+2X+4
[Solution
_(X-2) (X +2X+4) X+1
NX=TGDE-D  Xezxea
~. The domainof n=R—{2 51}
o= X2)
[Solution

01127470454
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3 + 2X+1
X+1 (1-X01+X)

. The domainof n=R-{-151}

*n(X)=

_3(1-X)+2X+1 _

4-X
M= 0 a-9

1+ (1-X)

46

x2+2%x-15
X6 X 45X

then find n (7) s n (3) if possible.
[ Solution |

o ng=XX=DXAD | (X-3) (X+5)
(X-2)(X-3) ~ X(X+5)(X+1)

.. The domain of n=R- {23 5-5 50 51}
yn(X)=1 sn(M=1
= n (3) undefined because 3 € the domain of n

x3-x2—2xx
X2-5X+6

Perp (3) 2™ Term

47
nm=x3-23x+2+ 23J:;_15
xt-1  xl-4x-5
[ Solution]
n(x)_(x—z)(x—l). 3(X-5)

TX=-D X+ (X+1)(X-5)
.. The domainof n=R - {1 5-1,5}
=Xz X+l X-2

47

Iff,(x)=§::

then find the values of a and b

If £, (X0 = 3 »then find f, (X) + £, (X) in the simplest form.
[Solution]
. The set of zeroes of f, (X)is {5}
SS5-a=0 s.a=3
s *.* the domain of f (X)=R- {3}
S3+4b=0 sb=-3

£, 00+ £,00 =222 4 X2

X=8  .X=3
_2X-6_2(X-3) _,
.3 o A

Mr.Omar Adel

»and the set of zeroes of f, is {5} »and the domain of f isR— {3}»

X+1 3 7 3
® X242+l
+2X+ _4
= X
1) ="5x-8 “x+i
[Solution
_(x+1)" _ x-4
0= a X x+1
~. The domain of n =R - {- 1 54}
on(0)=X2]
49
T M yrpp—— .
) X X+m

R-{0,-2}sn@)=1 Find:{,m

-+ The domain of n =R — {0 »—2}

LAt X=-2 S X+m=0

sH=-2+m=0 m=2

|

I"Oc)'x'x+2 ( 4

yon4)= '.T'f'm:l

O Y J | .

.—4—+6—1 . 4— 2 ..l p) 2
U292 cnd caisl
mozkratgahza

01127470454
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Ifn(X)=~%fmdn'l(X)and

n~ ! (X) and identify the domain of n~ :

(Solution |

- _X-1 _— _X+3
i 7O L a7

. The domain of n™' = IR - {1,-3}

51

X*-3%
(X -(X* 425

then find : n”' (X) in the simplest form

showing the domain of n™ !

Ifn(X)=

X(X~-3)

n(X)= -2

(X-3)(X"+2)

e (X=3)(X*+2)

sSn (X)= X(X-3)

-, The domain of n”' =R — {0 >3}
-

m-l (x)=x;2

52

Find the set of zeroes of the function f

X
X+

f(X)= ;slhenﬁndf_](Z)

[ Solution |
X+1

z(H={1} -l 0=57
. Thedomainof f~'=R-{-151}

’f_l (2):..22_1_'_:=%=3

Mr.Omar Adel

Perp (3) 2™ Term

53 -

X2+3X
Ifn =
%) x2+X—6

(1) Find : n~ ' (X) and find the domain of n~ "
(@) If n~ ! (X) =2 » find value of X

(Solution |

e _ X(X+3)
- "= e x-2)

_(X+3)(X-2)
)= X(X+3)
<. The domain of n” ' =R — {0 5-3 52}
=222
@ n'=2 PRIt Y,

S X=-2=2X S X==2

on! (

54

If the fraction x; 2 is the multiplicative inverse of
X“-4

xX-2
of b where X¢ {2 »-2} 5 then calculate h

[Solution|
fig s X+2
)=y
ol (X=2)(X42) _
SN ()= %D X-2

n“(x)="—;Z  hoal

55
n(X)= % find ! (X) and identify the domain of ™!
Solution|
- _X-1 _— _X+3
Ta0=5s 0 )=y

.. The domainof ™' =R - {1 53}

01127470454
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If A and B are two events of the sample space of a random experiment »
PA)=3 L »P(B)= 5 andP(AﬂB)— 7o Find :

(1MHP(A) (@P(B) @PAUB)
(@P(A-B) (®PB-A)

(Solution |

(DPA)=1-P(A)=1- % %
(Z)P(B)—I—P(B)—l_% %
(3)P(AUB)=P(A)+P(B)-P(ANB)

. T S
ST 16" 10
(4)P(A-B)=P(A)- P(AﬂB)=—-ll_0=lL0

(5)P(B-A)=P(B)-PANB)=3-{5=1

Perp (3) 2™ Term

59

(2 If A and B are two events from the sample space of a random experiment »
P(A)=0.8 P (B)=0.7and P(A( B)=0.6 Find :
(1) The probability of non occurrence of the events A and B together.

(2) The probability of occurrence of at least one of the two events.

[ Solution

(1) The probability of non occurrence the two events
Aand B together =P (AN B)=1-P(ANB)
=1-06=04
(2) The probability of occurrence of one of the two events
atleast=P(AUB)=P(A)+P(B)-P(ANB)
=08+07-06=09

57

If X and Y are two events of a sample space S > P (X) =0.35 P (Y) =048
and P(XUY)=0.6Find :

WPX) P (Y) @PXNY)

@PX-Y) @PXNY)

MPX)=1-P(X)=1-035=0.65
P(Y)=1-P(Y)=1-048=052
(@) PXUY)=PX)+P(Y)-P(XNY)
~PXNY)=PX)+P(Y)-PXUY)
=035+048-0.6=023
B)PX-Y)=PX)-P(XNY)=035-023=0.12
@PXNY)=1-PXNY)=1-023=077

58

If A and B are two events of a sample space of a random experiment > P (B) = %
and P (A-B)= 1 Find : P(A) if :
(MHPANB)= -13 (2)A and B are mutually exclusive. (3) B C A

(1)P(A)=P(A—B)+P(AﬂB)=%4.11_2:%

(a)P(A):P(A—B):%

(3)-BCA ~P(ANB)=P(B)=
P(A):P(A-B)+P(AﬂB)=%+

=l
12

Mr.Omar Adel

60

If A and B are two events of a sample space of a random experiment » P (A) = 0.5
sP(B)=0.6and P(A( B)=0.4Find :

(1) The probability of occurrence at least one of the two events.

(2) The probability of occurrence of B and non occurrence of A

(3) The probability of non occurrence of A

(a) The probability of non occurrence of any of them.

(5) The probability of occurrence of one of the events but not the other.

(8) The probability of occurrence of the event A only.

[Solution|

"1) The probability of occurrence of one of the two events

P(AUB)=P(A)+P(B)-P(ANB)
=05+06-04=07

at least =

'2) The probability of occurrence of the event B and

non occurrence the event A
=P(B-A)=P(B)-P(ANB)=06-04=02

(3) The probability of non occurrence of the event A

=P(A)=1-P(A)=1-05=05
(4) The probability of non occurrence of any one of the
twoevents=P(AUB)=1-P(AUB)=1-07=03

(5) The probability of occurrence of one of the two
events but not the other=P(A-B)+P(B-A)

=P(A)+P(B)-2P(ANB)
=05+06-2x04=03
(8) The probability of occurrence of the event A only
__=P(A-B)=P(A)-P(ANB)=05-04=0.1

Jaga ul.ﬂ cais|
mozkratgahza
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64
61

If A » B are two events in a random experiment where :

If A and B are two events from a sample space of a random experiment > and P(A)=07 , P(B)=06 > P(AMB)=03
P(A)=07 5 P(B)=06 > P(ANB)=04 ,then find : Calculate the value of : (1) P (A) @ P(A-B) @ PAUB)

MPAUB) (@P(A-B) m
 Solution] (MDPA)=1-P(A)=1-0.7=03

' = = =07+06-04=09
(1)P(AUB)=P(A)+P(B)-P(AMB) ¥ (2)P(A—B)=P(A)—P(AnB)=O.7-O,3=0,4
(2)P(A—B)=P(A)—P(AﬂB) =07-04=03

(®P(AUB)=P(A)+P(B)-P(ANB)

62
=07+06-03=1
If A and B are two events in a sample space for a random experiment » and if 6 4
P(A)=08 , P(B)=0.7andP(ANB)=0.6
Find : (1) The probability of nion occurrence of the event A A box contains 30 identical cards numbered from 1 to 30 and a card was drawn randomly.
(2) The probability of occurrence one of the two events at least. Calculate the probability that the number on the drawn card is :
m (1) Divisible by 4 (2) A prime number.
bility of curence of the saa l
(4T protsability € sioa oo = " The probability that the number on the drawn
eventA=p(A)=1-P(A)=1-08=02 and s divisible by d 7
C A = 3r
(2) The probability of occurence of the two events SRR EY 30
atleast=P(AUB) The probability that the number on the drawn

=P(A)+P(B)-P(ANB) =08+07-06=09 10 i

card is a prime number = 30 =3

63
64

If A and B are two events of the sample space of a random experiment
PA)=3 s PB)=3 » PANB) =75

) If A and B are two events from the sample space of a random experiment where
Find (P AUB) P®)=% » PAUB)=1
(2) The probability of non occurrence any of the two events. Find P (A) in each of the following ;

(3) The probability of occurrence of event A only. (A dnd B muitudlly axcliidive @BCA

-+ A and B are mutually exclusive events

(DPAUB)=P(A)+PB)-P(ANB) | .ranms-o
R 2

== = = =
9 9 9
(2) The probability of non occurrence any of the
two events = P (A U B)
1

- = 2
=1-P(AUB)=1-5=2 A bag contains 21 symmetrical balls s 8 white » 6 red and the rest is black s one

3 3
(3) The probability of occurrence of event A only i e e Seiae

P(AUBj=P(A)+P(B) P(A)=P(AUB)—P(B)=%"T15 =%

_6 _
= 'ﬁ =9 @ BCA ~PAUB=P@A)=%

64

(1) White. (2) Not black. (3) Red or black.

=P(A—B)=P(A)—P(AﬂB)=%_-é-=% Pacusion]

——

A classroom consists of 40 students » 30 of them succeeded in math. 24 in science and :1) The probabllxty that it was white - _28T

20 in both math. and science. If a student is chosen randomly.

Find the probability that this student is : '2) The probability that it was not black
(1) fail in math. (2) succeeded in math. or science B 8+6 > 1_4. _ -2_
[solution il
" s 3) The number of black balls = 21 - =
(1) The probability that Seiene wa| - (2) The probability that the ® - . i
the chosen student fail (0) chosen student succeeded in The probability that it was red or black
6+7
inMath.:%:% Malh.orScience:%%:-% =T:%
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